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'CHEMISTRY
Part-1{

Tlm. . 3
00 hre Marks : 70

. c

: W?a?‘:,se the correct answer: ' ISELe1s
© : )??f the following compound has percentage of carbon same as that in ethylene

2Ny _ . :

. a ' :
T:1 ] Plopene  p) ethyne ¢) benzene d) ethane
betwener Qle§ E, and E, of two radiations are 25 eV and 50 eV respectively. The refation -

een their wavelength ie., Asand A, willbe . C '

Ay ;
a) —== v 4
3 ). b b) A, =21, C) Ap=v25x50 Ay d) 21 =1;
e Assertion ; Helium has the highest value of lonization energy among all the elements
R ‘known. :
€ason:  Helium has the highest value of the electron affinity among all the elements
known. - ‘

, a) both assertion and reason are true, and reason is correct explanation for the assertion
- t?) both assertion and reason are true, but reason is not correct explanation for
, the assertion _ . g u )
C) Assertion is true and the reason is false
d) both assertion and reason are false
"4. Which one of the following is radioactive isotopes?

a) protium b) deuterium c) tritium d) both (a) and (b)’
5. In case of alkali metal halides, ionic character increases in the order
a) MF <MCIl<MBr<MI - b) MI<MBr<MCIl<MF
c) MI<MBr<MF<MClI . ' d) None of these ,
6. Which of the following is the correct expression for the equation of state of Vander
-~ Waals gas?
a. o\ ¢ . na ) S
- P+——=|(V-nb)=nRT . ——[(V-nb)=
L. 9 ( nzvz).( ,) -0 [P+n2v21(v mbjj=aRT
2 ‘ 7.3 :
an \ : n“a
c) (P+-\—,—2—-}(V-nb)—nRT ) [P+ > }(v-qb)=nRT
7. The value of the lattice energy (U) of the following reaction Na* gt Chg— Na‘Cl‘(s)_
a) U=0 1 . b) U = +788 KJ moH o
c) -788 Kymol- . .d) U=1788KJ mot! -

8. In the equilibrium ZA(g) = ZB(g) +C, y . ‘
the equilibrium concentration of A, B and C, at 400K are 1 x 104 M,2.0x 103 M,
‘ 1.5x 100~ M respectively. The valye of Kc for the equilibrium at 400K is
a) 0.06 b) 009 ¢j 062 - d),3x107?
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N . 2 : sndent of temperatyre s
9. Which of the following concentrat: re indepen ‘
: ; d
. a) ‘molalty - p) mO!arityahon tem::S) 8 mole fraction ) (@) a”lf (c) X
10. Which of following is g; . : '
o lgzo th.e‘o oufnr;g); lsé) dzﬁmagnetlc? ) o - d) None of thege
11. Ortho and para nitropheno| can be tedby
. . @). azeotropic distillation Separ:) destructive dlstt:Iactiuon ‘
. c) steam distillation d) can'tbe separave »
12. - effect is shown by . o a d CH
. a) Cl ) . b) Br - : o) both (a) and (b) ) 3
13. Which one of the following ig non-aromatic? - ' -
a)@ g b) | O .
o | ) Ng”/ :
14. The raw material For Rasching process - . . ’
a) chiorobenzene  b)phengy. . c) benzene- - .. d) anisole
- 15. Which of the following is natural and fyman disturbance in Ecology? _
 a) forestfire b) floods c) acidrain. ' d) green house effect
O B R - Part-ll ~N N - .
1l Answer any 6 questions, (Q.No.24 is compulsory) - 6x2=q
16. Define equivalent mass. R o~ '
17. State Heisenberg’s uncertainity principai,
18. Give the uses of gypsum, J 4
* 19. State Boyle's law. - :
20. State Le-Chatelier principle. :
21. Write the limitations of Henry's law, ' |
22. What is functional iSo_merism and give the example.
23. What is electrophile and nucleophile? E S
24. CHs,‘ CH= CH2 + HBr PeroXide & X Find the'major pl’Odlzlét X
s A - Part- I - 4 |
6x3=18

25. Difference between ortho and para hydrogen.

26. Explain the diagonal relationship. . :
27. Calculate the oxidation state of the under lined elements.

a) KO, B HS0, 0 o gF,

26. Write the relationship between Cp and Cu oy gy i gis

29. Write the molecular orbital diagram for CQ Molecyle . '

30. What is green house effect?
31. "How will you prepare benzene from aqety!ene? S

32. Write Wurtz fittig reaction. L
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. if an automob; :
33 temperatur:"e @ngine burns petrol at a ten, : ~ |
18 21°C. Calculate its maximypy, atu.re 0f816°C ang if
Part- 1y Ssiblg efficiency.

Xl Chemistry
| the surrounding
V. Answer al| the Questions, : -
3. 8) zalance the following equation by Oxidatig, '
| MO, * HyCo0, + H,80, -5 K;S0, + l\ﬂngg“ber o e
. " (oR) 4+CO,+H,O
b) i) Derive de-Broglie equation. (3) N N '
fl) Write the limitations of Bohr's atom deel @ E
35. a) ) Write the biological importance of Magnesi Y i |
i) Write the uses of hydrogen. (2) e o
- (OR) ‘ '
b) - Derive the values of critical constant in terms of Vander Waals constants.

Sx5=2%

e e © (5

36. a) i) Write the characteristics of internal energy. (3) B ©
i) Whatisentropy? (2) = ' T
o (OR) |

b) i) Write the Kp and Kc for the following reaction. (3)

. 1) 28054 * Oy = 2804
2) 2C0O() = COyq) * Cyy
ii) What is isotonic solution? (2) ..

37.a) i) Write notes on Thin layer chromatography. (3)
ii) Write the ozonolysis of acetylene. (2), |
T « (OR) - &

b) Write the IUPAC name of the following : .

CH, - GH - CH,-CH, e

2 GH,- CH, - C- CH2 - CH,

V. o cHo e
" CH, - CH-NH-CH CH, - CH, * G- CH = &1,
3. CH, -9 " cood
' 3 ' o5 : ‘ ' 3
CH, - CH; - |CH - OH, - 0F s
5) CH, : . ', .
‘ S L6 .
-« of SNy and SN, ( | |
38, a) Wiite the mechaniSm o=t “ggy e
S o ontion? @ |
b) i) What 's"a;;ﬁonfm' air pollution? "(3)

i) HowWwi

\
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